INSTALLATION INSTRUCTIONS
POLARIS RANGER FULL-SIZE 2013
ROOF
PART # 88-9220

IMPORTANT NOTICES

READ AND UNDERSTAND THESE INSTRUCTIONS COMPLETELY BEFORE INSTALLATIONTO
AVOID INJURY TO YOURSELF, DAMAGE TO THE VEHICLE OR ACCESSORY.

e For proper installation, TWO people are required.

e Torque specifications must be followed when tightening bolts. Over-tightening any and/or all screws will cause
cracks around mounting holes which is not covered by any warranty.

o As specified on carton label, damage caused by packaging staples is not covered by warranty. All staples must be
removed prior to removing product from carton.

¢ Failure to follow these installation instructions completely may void any warrantable components and result in
product damage or personal injury.

¢ Do not use Loctite or any other similar fastener adhesive. These types of products react to plastics and cause
cracking. Not covered by any warranty.

DEALER

These instructions contain important information for future reference and must be given to the customer at time of
purchase or upon completion of installation.

Parts List (parts available with kit only and not available separately)

ITEM PART NAME DESCRIPTION QTY
A Roof Roof made of 3/16" thick high density polyethylene 1
B Co-extruded bulb seal Includes: 180" Co-extruded bulb seal [end user to cut to exact length] 1
C Foam cushion Included: 96" of 1" x 4" self adhesive foam cushion [end user to cut to exact length] 1
INSTRUCTION D Nuts & bolts Includes: 4 metal plate hook_s, 4 philips truss head screws M6 x 20, 3 philips truss head screws 1
BAG M6 x 24, 10 plastic washers M6, 3 rubber washers M6 and 3 locknuts M6
Wet-nap Includes: wet-nap 2

1. Installation

a) Apply the self-adhesive foam cushion (Item C) to the roof as shown. For proper installation, the roof must be free of any dust or any
other contamination. Use the roof side edge notches as guides to position and align the foam cushion as shown below. You must
leave a free gap of %" from side edges.

REAR
— %"

Roof side edge —

--—t---- >
\ Self adhesive foam Notche guides |
cushion (+/- 50 %") - >

Self adhesive foam

\ cushion (+/- 21 \ .

e - Mﬂsﬁi

88-9220 - Instructions POLARIS RANGER FULL-SIZE 2013 Roof - rev03 www.spikepowersports.com / 888-769-2295 1


http://www.spikepowersports.com/

IMPORTANT NOTICES

Over-tightening any and/or all screws will cause cracks around mounting holes which is not covered by any
warranty.

b) Apply the co-extruded bulb seal (Item B) to the roof edges using
manual pressure to ensure good adhesion. Before final cut, leave an
extra length of %" at the finishing end and cut. Extra length will ensure
a tight fit. (Fig. B1)

Wet the edge of the shield or roof with the
wipes provided, so bulb seal slips on to the
edge of the product easily.

Co-extruded bulb seal
starting/finishing point

¢) Install the roof (Item A) to the vehicle using supplied hardware (Item C) as
shown below and tighten.

Philips truss — Plsstic Philips truss
screws M6 x 20 2 /Was er M6 Philips truss screws M6 x 20
. screws M6 x 24

screws
M6 x 24

[~ Plastic

washers M6

'

\ ® Wi
I / / \ \ ] M;al\ plate
Metal plate Rubber Plastic
hooks washer M6 LOCkg“t M6 washer M6 hooks
€) ® ®

2. Maintenance and Care
Tighten all hardware after first use and periodically thereafter.

88-9220 - Instructions POLARIS RANGER FULL-SIZE 2013 Roof - rev03 www.spikepowersports.com / 888-769-2295 2



http://www.spikepowersports.com/

